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CIRCLES

THE CIRCUMFERENCE

Al

Find the length of the circumference.

A2

A dinner plate has a diameter
of 27 cm.

Calculate the circumference of the
plate.

A3

The circumference of a circle

1s 74 cm.

Calculate the length of the diameter
of the circle.

Ref: (}425.23 1
A4

Calculate the circumference of a
14-inch pizza.

B1

The diameter of a 10-pence coin
is 24.5 mm.

Calculate the circumference of the
coin.

B2

Find the length of the circumference.

B3

The distance between the pencil-tip
and the point of a pair of compasses
is set to 4.5 cm.

Calculate the circumference of the

B4

The distance around a circular pond
is 22 metres.

Work out the diameter of the pond.

9.2 cm circle that will be drawn.
C1 C2 C3 C4
Find the length of the circumference. | The circumference of the earth is A square has an area of 40 cm”. Work out:
approximately 40 000 km. Work out the circumference of the ”
Calculate the distance from the circle. - F

surface to the centre of the earth.

2
N

Give you answer correct to
3 significant figures.
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THE CIRCUMFERENCE

Al

Find the length of the circumference.

8.4 cm
C=nx84
=284 cm

A2

A dinner plate has a diameter
of 27 cm.

Calculate the circumference of the
plate.

C=mx27
=848 cm

(CanD)

The circumference of a circle

is 74 cm.

Calculate the length of the diameter
of the circle.

Ref: ('i425.2 S 1
Ad

Calculate the circumference of a
14-inch pizza.

C=mx1}4
= U4 inches

B1

The diameter of a 10-pence coin
is 24.5 mm.

Calculate the circumference of the
coin.

B2
Find the length of the circumference.

B3

The distance between the pencil-tip
and the point of a pair of compasses
is set to 4.5 cm.

Calculate the circumference of the

B4

The distance around a circular pond
is 22 metres.

Work out the diameter of the pond.

C=nx2U5 9.2 cm circle that will be drawn. p= 22
_Ee— c=nx18h / C=nx9 -
T = 57.80m =283 om g (L
C1 C2 C3 C4
Find the length of the circumference. | The circumference of the earth is A square has an area of 40 cm’. Work out:
approximately 40 000 km. Work out the circumference of the 2
Calculate the distance from the circle. o
34 mm surface ti ~ H0000  : earth. T
b= T JHo = 6:325. Give you answer correct to
C=mnx68 =12732 6.325... = C = x6325.. 3 significant ﬁgures'
= 244 mm - I = 6366 km ‘L \ =19.9cm ——
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